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Task 1                                                                                                                  (8 x 1 mark = 8 marks) 

 

Underline the correct word or phrase in the brackets. 

 

If more than one option is underlined, the sentence is to be marked as incorrect. 

 

1.      Post Office 

2.      down 

3.      dangerous 

4.      second 

5.      Toy Museum 

6.      ten 

7.      roundabout 

8.      Toy Museum 

 

 

 

Task 2                                                                                                                                        

1. True, False or No Information Given 

       Tick () the correct box in the table below.                                           (5 x 1 mark = 5 marks) 

        

If more than one box is ticked, the answer is to be marked as incorrect. 

 

 

True False 

No 

Information 

Given 

(a) Simon lives in London with his family.    

(b) The town of London was built more than 2,000 years ago.    

(c) London has grown since it was built by the Romans.    

(d) There are twenty bridges crossing the river Thames.    

(e) Simon spent a whole morning at the Natural History Museum.    
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2.  Underline the correct word in each bracket.                                         (4 x ½ mark = 2 marks) 

 

(a) four 

(b) busy 

(c) tube 

(d) surprised 

 

 

3. Tick () the correct answer.                                                                    (2 x 1 mark = 2 marks) 

 

 

(a)      by the palace gates.  

 

(b)      enormous.  

 

 

 

4. Fill in each blank with ONE word.                                                         (3 x 1 mark = 3 marks) 

                                        

Spelling mistakes and grammatical errors do not forfeit the mark unless they impede 

communication. 

  

Accept answers such as: 

 

(a) travelled  

(b) sign / symbol  

(c) wanted   
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